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QUESTION 1

Legitimate email from xCorp is being rejected by Symantec Messaging Gateway 10.5 at ZZ Inc. How can a ZZ Inc.
email administrator troubleshoot this issue?

A. Add the xCorp MTA IP address to the Fastpass table.

B. Add the xCorp MTA IP address to the Global Good Senders list.

C. View the reputation of the xCorp MTA using the Spamhaus IP Address Lookup Tool.

D. View the reputation status of the xCorp MTA IP address via the IP Reputation lookup tool.

Correct Answer: D

QUESTION 2

Which two can be used to verify that Symantec Messaging Gateway 10.5 is processing messages? (Select two)
A. view the Message Audit log

B. view the Fastpass log

C. view message headers

D. view the invalid recipients header

E. view the Admin Audit log

Correct Answer: AC

QUESTION 3

Symantec Messaging Gateway 10.5 is running out of disk space due to storing extended logs. The administrator is
required to store extended log data for more than a year. Which action should the administrator take?

A. lower the maximum log storage limit

B. deploy Control Center on virtual appliance and add more disk space
C. configure remote logging

D. add higher capacity disks toapplianceRAID array

Correct Answer: C

QUESTION 4

Which TCP port is used for communication between the Control Center and the scanner(s)?
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A. 41001
B. 41002
C. 41004
D. 41080

Correct Answer: B

QUESTION 5

In addition to a configured seed, which other characteristic does Symantec Messaging Gateway 10.5 use to create a
unique tag for Bounce Attack Prevention?

A. Message ID

B. IP address

C. Fully qualified hostname
D. Date

Correct Answer: D
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